Chapter 1

6.  4096

14. There are 4.9 GB of data on the hard-disk drive. Each floppy disk will hold only 1.44 MB. Thus, it will require over 3,000 floppy disks to hold all the data. That does not seem practical to me.

18. Using the average rate of 40,960 characters per second from problem 16, we conclude that each character requires 1/40960 seconds or 24.4 microseconds to pass the read/write head. In this amount of time the CPU could execute 244 instructions.
40.  a. 01101  b. 10000 (incorrect)   c. 00000  d. 10001  e. 01110

  f. 10011 (incorrect)   g. 11110  h. 11111  i. 10000 (incorrect)   j. 01101

45.  a. 01001000  b. 01111111  c. 11101111 

  d. 00011100  e. 00011111 (truncation)
46. The best approximation of the square root of 2 is 1 3/8 represented as 01011011. The square of this value when represented in floating-point format is 01011111, which is the representation of 1 7/8.

49. From left to right the result would be 2 3/4. From right to left the result would be 2 1/2.

52.  a. The value is either eleven or negative five. 

  b. A value represented in two's complement notation can be changed to excess notation by changing the high-order bit, and vice versa.

57. When using binary notation, the largest value that could be represented would change from 15 to 255. When using two's complement notation the largest value that could be represented would change from 7 to 127.

